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General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 68 /SS / O-A on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one

of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,

Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any

errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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Notes :

This question paper consists of 49 questions in all.

All questions are compulsory.

Marks are given against each question.

Attempt all questions either from Optional Module A or Optional Module B in all sections.
Section - A consists of :

(a) Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and
write the most appropriate option out of the four options given in each of these questions.

(b) Q.No. 21 to 35 - Objective type questions carrying 2 marks each (with 2 sub-parts of 1 mark
each) and attempt these questions as per the instructions given for each of the questions
21 to 35.

Section - B consists of :

(@) Q.No. 36 to 41 - Very Short Answer type questions carrying 2 marks each, to be answered in
the range of 30 to 50 words.

(b) Q.No. 42 to 46 - Short Answer type questions carrying 4 marks each, to be answered in the
range of 50 to 80 words.

() Q.No. 47 to 49 - Long Answer type questions carrying 6 marks each, to be answered in the
range of 80 to 120 words.
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(a) UYT WEAT 1 ¥ 20 - Tgfohedd TR & T 8, S Jish U9 1 37k H1 T1 37 I91 § gk | o
T =R fasedl § ¥ god Sy fawey gim oik fafau)
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1)

(2)

( Note/ﬁﬁ'ﬂ :

Answer of all questions are to be given in the Answer-Book given to you.

Goft gl o I U] & T8 IW-YRewt 1 2 ford |

15 minutes time has been allotted to read this question paper. The question paper will be distributed

at2:15 p.m. From 2:15 p.m. to 2 : 30 p.m., the students will read the question paper only and

will not write any answer on the Answer-Book during this period.

9 YIA-UF & UeA o foru 15 Tiee o1 wwe fean 7o 81 wea-us o foawor Sruek § 22 15 ot fopan s |
2:15 991 § 2: 30 51 T BT hadl YH-UF S Ui 3R TH 31afY o A o STR-RAHT W HIE IW 7

\. il J
SECTION - A /@US - <h
1.  The idea of law as guide to human conduct is as old as the existence of the 1
(A) Human beings (B) Civilised society
(C) Government (D) Courts
T SATER0T % AFCYeh o €9 H HMA Sl Aq8Ron Fefafad § 9 fha & sfaa fa Ut 82
(A) I 3fd (B) W T
(C) R (D) rererdl
2. Private law regulates and governs the relations of citizens with 1
(A) government (B) society
(C) each other (D) private companies
feit s Frefataa 9 fre < e Amien! o gl o fafafha o) mfaa w2
(A) HIHR (B) HHIS
(C) 3198 § Teoh T & |1 (D) UIEaE KAl & Y
3.  Which one of the following is NOT dealt by Personal Law ? 1
(A) marriage (B) divorce (C) succession (D) employment
feRTd A et 9 forg o faern 78 & § 2
(A) foam (B) <R (C) STUfHRR (D) TSR
4.  Which one of the following is NOT a source of Hindu Law ? 1
(A) Customs of Hindus (B) Vedas
(C) Judicial decisions about Hindus (D) International Laws
frefafed § @ =6 fog FrE &1 @ & 72
(A) Ofa-fam (B) d%

(C) fegall & an ¥ =nfaes fof (D) ST &MA
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5.  Inthe 16" Century Roman Catholic Churches were established by which one of the following

in Western parts of India ? 1
(A) Parsis (B) Portuguese (C©) French (D) Jews
160 Srreal H NG o wik=s wri H U weiiferss ==t o Frefafad 9 | feem i oft 2
(A) wRfGE (B) gemferEi (C) il (D) =gl
6.  The Indian Christian marriage act was codified in the year . 1
(A) 1870 (B) 1872 (C) 1874 (D) 1876
T ST foreg stffem fohe o wiedrsg foran w2 an?
(A) 1870 (B) 1872 (C) 1874 (D) 1876
7.  Which punishment theory advocates even the capital punishment to teach a lesson to others ? 1
(A) Reformative Theory (B) Detterent Theory
(C) Retributive Theory (D) Compensation Theory
TUE 1 B 91 Fagr ol ! ash faEm & fau  widh s g5’ T Fi ke € ?
(A) GuNHs Togr= (B) TR fagr=
(C) wowrt fagr (D) aferafd fagr=
8.  Choose the correct full form of IPC : 1
(A) Indian Personal Code (B) Indian Personal Conduct
(C) Indian Penal Code (D) Indian Penal Case
3. dLH. (IPC) =1 W& forega &9 T :
(A) 3T 98T hie (B) Ifead THAA FHew
(C) sfeaa 4 =i (D) sfead 99a &4
9.  Which punishment theory works on the dictum “you can not cure by killing” ? 1
(A) Detterent Theory (B) Reformative Theory
(C) Preventive Theory (D) Compensation Theory
TUE 1 A 1 A5 ST T g SRR T Y Wehd ' i SfeRl T STTeIfa © 2
(A) e fagr (B) YuNcAs fagr
(C) TRus fagr (D) efayfd fagr
10. Which one of the following statements is TRUE about pleading ? 1

(A) Every pleading must state the laws.

(B) Every pleading must state the facts.

(C) Every pleading should be oral.

(D) Every pleading is to reduce the punishment.

Frfafea § 9 &F W Fwed s1famed (pleading) o oK # ‘¥’ €2
A) Y AfaTE § HA 1 Seord B A1l |
B) U@ SAfvaEre § qei ol Seei@ g1 A1t |
C) YA fvareH Hifaes g1 =1feu |
) A ARYEEH U U & AT T

o~ o~ o~ o~
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11. Which one of the following is NOT a writ under the Right to Constitutional remedies ?
(A) Habeas Corpus (B) Mandamus (C) Prohibition (D) Concession

frfafea 8 @ &9 @ fasey ' gaufie STl & 1R’ o STl -I&l o1 ?
(A) & ISR (B)  TERY (OEREELIE (D) farm

12. The aim of RTI (Right to Information Act) is to bring information to the .
(A) Press (B) Citizens (€) Courts (D) Lawyers
‘g 1 SR T Sevd TEfefad § § a1 go IoH 0 H1 R ?
(A) ¥ (B) TR (C) s (D) Fwra

13. Which law prescribes method of enforcing rights or obtaining redress for their invasion;
machinery for carrying on a suit ?
(A) Criminal Law (B) Civil Law
(C) Procedural Law (D) Substantive Law
I | T SATIHR 1 AN HE, AL 3Heh Jeersd TR &AfTYfd U I T ThGHT LA & qf I
Tt e €2
(A) STy T (B) ANRER A
(C) wfafsrarcas A (D) AT T

14. Substantive Law is a
(A) statutory law
(B) law of action
(C) law of regulating employees
(D) law that provides mechanism to arrest

) FHHEE 1 Fafad w5 S S S
D) fRUR & % dF Sl A ST HHEA €|

15. Under which law comes the ‘Right to appeal” ?

(A) Procedural law (B) Substantive law
(C) Statutory law (D) None of the above
‘Tt T o1 AfUERR foRE A o ofwwrTa e €7

(A) HfsraTcHs I (B) Sfrs3rEl wrA

(C) HaufTh HHA (D) ST § | S &

16. Which one of the following is NOT defined by the Substantial Criminal Law ?
(A) Murder (B) Robbery (C) Marriage (D) Rape
Frefafead # | ford =1 SAfusrEll strofys i o e=aia aRfed &1 fera i ?
(A) 7w (B) ekl (C) fomms (D) eAhR
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17. Choose the correct full form of ADR : 1
(A) Another Dispute Resolution (B) Alternate Dispute Resolution
(C) Authorised Dispute Reference (D) Alternate Dispute Removal

TEL.3R. (ADR) &I @& fosga €9 T :

(A) 3K Teezpe RS (B) 3Teetie feege RSegeH
(C) eneNEss ferge Thiw (D) et feege fgaa
18. Choose the correct option : 1
No appeal is permissible against the awards of the
(A) Lok Adalats (B) Formal Courts
(C) Governmental Departments (D) None of the above
W@ fose g
frfafea # @ fegs fofa & faeg sriiet =1 i e1gafd T ®2
(A) < STRea (B) iU =™
(C) TN favm (D) SR H ¥ IS Tl
19. Choose the option which is TRUE for the Constitution of India : 1

(A) It was framed by a penal of jurists.

(B) It was adopted on November 24, 1949.

(C) Dr. B.R. Ambedkar was the Chairman of Constitutent Assembly.
(D)

D) Constitution contains the laws and the principles according to which the State of India

is governed.
frfafed # @ & 91 woF  wRa % Wiy’ % R H ‘w9’ §2
(A) TG =] % Tk U A FfHa feram o
(B) SH®I 24 FAR 1949 ol SRR feoham T o |
(C) I WimUE STt Hiau™ 99l & 318l 9|
(D) dfgu™ ¥ T& & iR Fom § 59 ST{8R IR T2 1 Aee Henferd e 8|

20. Which one of the following is NOT a fundamental right ? 1
(A) Right to Equality (B) Right to Freedom
(C) Right to Property (D) Right to Education
frfafed § | S & AfwR A iR 781 €2
(A) HHMA 1 3TfeehR (B)  TeIdil Wl 3AfHehR
(C) wwafa =1 AR (D) e 1 siferpR
21. Fill in the blanks : 1+1=2
Both public and Law may be or Procedural Law.
e Tl 1 Stk | Wi
RIEGERCIN Eas GACRI] ST YiRATHS HA & Tohd ¢ |

(=13
68/SS/0-338-A | 6 EI% [ Contd...



22. Itis a well known fact that present judicial system is extremely and parties to a

dispute have to wait for for years. 1+1=2
78 U gfafed qea € for adam =nfaer semen agd & T R foret foame & g2t wifeA
I TN qeh Telted T TS

23. Conciliation is a and non binding process in comparison to and
litigation in courts. 1+1=2
BSEEIGIA 3R YehewHarst H gaT | TH 3R STreneRRY Ufehan g |

24. Match the items in Column - A correctly with their corresponding items in Column - B. 1+1=2

Column - A Column - B
(a) Lok Adalat (i) Wastage of time and money
(b) Formal Court (i) National legal services
(iii) American system

(iv) Saves time and money
HTETH - A H TS| ST %hl T - B i SEIH o T Fel THer™ =hifse |
HIEH - A HTeH - B

(a) T TR (i) T 3R ¥F i SRE
(b) Frafaa =mmes (i) T fafew dand
(iii)  STHLIRT FOTTAT
(iv) T9F AR &9 & g9q
25. Fill in the blanks : 1+1=2
The fundamental rights can not be by any organ of the
e Tl w1 ik | Wi
Hiferer sifeepil 1 o ferdit off ofm gm0 Tl feham ST ekl |

26. Write true or false against the statement :

(i)  There is no difference between ordinary rights and fundamental rights. 1

(i) Originally, seven fundamental rights were enshrined in Part III of the Indian 1
Constitution.

FHA! & T Gl STl 3 TAfa

() IERE AR IR Hifeeh USRI & o= FE <R Tl 7 |
(i) o ®9H, IR Wfgu™ & 91 11 H | Hifcs AfueRr st 9
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27. Write true or false against the statements :
(i)  Untouchability has been abolished and its practice in any form is prohibited.
(i) Fundamental rights are enshrined in Part IV of the Constitution.

FHeFl % A e e 39 fafa
(i) STEIREM () H e fem T © iR fohdt off §9 H 36 =aer W iaery § |
(i) Tiferr AfHER IRdE digem & 9w IV § <t €1

28. Fill in the blanks : 1+1=2
Directive principles are non and are meant to make India a state.
BesESIRIETICIE R ITC I
T % Hifq fves fagr TE ¥ 3R 3R SRYT WA B TH T A
2l

29. Answer the following questions :
(i)  Who is the ex-officio Chairman of Rajya Sabha ?
(i) The members of the Rajya Sabha are elected by which particular system ?

frfataa gedi & W fafeam :
(i) I TST T HT IR A BNl © 2
(i) T 9 F T e sy yomedt o 3T9ER 9+ S € ?

30. Fill in the blanks : 1+1=2
A money bill can be introduced in Sabha only with the prior permission of the
Tt Tl i St | A
fora fagrer sl shaet qur H I g9 STTAM & UA R ST Hehal T

31. (i) What age you must have attained to become a member of Lok Sabha ?

ii) What age you must have attained to become a member of Rajya Sabha ?

(
(
(i) < W I TG I ok fAU et o1y foha o o1 389 S1fuek B =t ?
(i) T W H TG I & foIw smuht A1 fohaw o 6t 2 =nfew ?

32. (i)  Which court has the jurisdiction to hear a dispute between Union Government and the 1
States ?

(i) The door of which court can be knocked if fundamental right of your, is violated ? 1
() T WER TR T o9 F R faae W S 91 =Aee A w9 § 2
(i) e Hifcs sl 1 Seerem Fa § @ ford e 1 TS WS S Hehdl © 2
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68/SS/0-338-A | 8 EI% [ Contd...



OPTION - 1/ fa&eq - 1
(Environmental Law and Sustainable Development) / ( U&TeRUT STA 3{ amuita faema )

33. (i) Name any two things that are part of the environment. 1

ii)  Which particular topic was discussed at Rio Conference in 1992 ? 1

(
(
() T < S o T fafeT S aaiET i 9w g
(i) & e - 1992 # forg fowa = == g8 off ?

34. (i) To which court can a person aggrieved by any order, decision or award of NGT go ? 1
(i) Which type of gas was leaked in Bhopal by Union Carbide factory in 1984 ? 1
() e U fesgaa o freht frofar steran stew @ difed 6 safed fore =mamer # stdied e s
TRl 8 7

(i) 1984 I H I wEze et § ford TR w19 ik g8 ot ?

35. Match the following correctly : 1+1=2
(a) Agenda 21 (i)  Principles of natural justice
(b) NGT (i) Government of India

(iii) Rio - Declaration

(iv) Kyoto - Protocol

Fefefed =1 W& frem i
(a) TskeT - 21 () URfde = @ e
(b) AT U T (i) WRd TR

(iii) =T - =feon

(iv) Rl - Uerehd

OPTION - II / fa&heq - 11
(Consumer Protection) / ( IUHTSHT W)

33. Fill in the blanks correctly : 1+1=2
The Consumer Protection Act, is an act to protect the __ of the
consumers.

o T 3 § 9
g weago stfufrem , T U At 8 S sudieel & EIRE)
FAT
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34.

35.

36.

37.

38.

39.

40.

Mark true or false against the statements :

(i) Offering any gifts, prizes or other items along with the goods is not an “unfair trade 1
practice.”

(i) Selling any rebuilt, renovated, reconditioned or old goods as new goods is acceptable to 1
the consumer and is not an “Unfair Trade Practice.”

el 6 WA W e 3 fafe

(i) TGSl F 1Y SUER, REHR 3Tl 31 =ist <1 ¢ ST FRER! =esR’ Tl §
(i) ToRet R, AT steran U T o ST ST S SYHIST S Wi § - 9% T ¢ ST
FRIER SRR’ &l T

Answer the following questions : 1+1=2
(i) What does exist when a person or enterprise is the only supplier of a particular
commodity ?

(i) What is promoted in India by the enactment of the competition Act, 2022 ?

e we i & S fafay

() 9 fordt fadm g 1 hoel Uk & Al ST 3em g o= S &, @ A o aRfefa e
et & ?

(i) wfoeaet sifafm 2022 @i @M wth vRa H forueh! dreafed fohan T €2

SECTION - B/W@vUs - @

Explain any two grounds for divorce under the Hindu Law. 2x1=2

fe=g A o ST TlTeh o T 1S QI STHR TI= RIS |

State any two conditions which are taken necessary for a crime. 2x1=2
forelt sToy o foq = o < aRfeafaell =1 sTeree w7 © 2

OR / 31eran
State any four defenses listed in the Criminal Law. 4xY2=2

AT A o ST fohgl =R a=rell hl Seei HifST |

Explain the meaning of ‘Private Law’. 2
it s 1 19 e i |

OR / AT
Explain the meaning of ‘Public Law’.

eI (S) A 1 31¢ T HIf |

Analyse the advantages of Plea Bargaining. 2

o AR % el ot favermor smife

Analyse the legislative powers of the Parliament. 2

T &! faurht wfaaal = favermor sifsa )
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68/SS/0-338-A | 10 rli% : [ Contd...



41.

41.

42.

43.

44.

45.

46.

OPTION - 1/ fa&eq - 1
(Environmental Law and Sustainable Development) / ( U&TeRUT ShTA 3{ amuita faema )

Explain the Kyoto protocol. 2

IS YIeIhicl ohi SATEAT hiToT |

OPTION - II / faeheq - 11
(Consumer Protection) / ( SUHTHT e )

Explain the meaning of “Consumer redressal”. 2

SUNTeT o’ w1 31ef Ty Shifsu |

Explain any two important features of ‘Hybrid Legal System’. 4
‘THfS T qoTed!’ <l foh=gl <1 Hecaqul fasroansti st =amea shifsy |

OR / 3tgan
Explain any two essentials of a valid Muslim marriage.

ot giem foare =t dud & fag @ sfamiarsti s =men sifs |

Analyse the importance of Right to Constitutional Remedies. 4
FAUTeh ST o STHR & Hew o fageroo Hifs |

OR / 3AYaT
Analyse the two principles of Criminal Law.

AT ST o foheal Q FagT=l o foeror HifsT |

Explain any four actions that come under Procedural Law. 4x1=4

gfshaATcHeh S o 3T=Td ST aTell fordl IR Shemgal ohl T whifST |
OR / 31eran

Explain any four functions of the Constitutional Law.

G A % I TR HE T RIS |

Describe any four Fundamental Rights. 4x1=4

for<l wr Hifaes ARl &1 9uiF SifsT |

Explain any four powers of the speaker of Lok Sabha. 4x1=4
Tileh |1 AT Rl fehegl =R Wfekiell shi ST HifST |
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47.

48.

49.

49.

Describe any six type of people who shall be entitled to free legal services. 6x1=6
B: YHR & T S 1 90 iferg < gua fafess Jamd g o &1 1R €1
OR / 3teran

Name the act under which Central or State government can constitute the authorities to 2+4
provide free legal aid to needy and poor. Name all the authorities created under this Act.

3T srfufam o1 T fafen fSas srwaia F 3R T TR STeaHs IR e &l &t .3
(qua) fafus o€ yem = & forg Wit fed =2 dedt €1 30 eifuftan & srta fea |
TIfeRTel & W fafaw |

Explain the six freedoms guaranted under the Right to Freedom. 6x1=6
A o ATYRR ST=rTd & T8 (Teyd) frzl ®: Todaansti sl e sifs |
OR / 3tgan

Explain any four differences between Fundamental Rights and Directive Principles of State
Policy.

Tiferer AR IR To9 & ifd e fagrl & o9 FiE IR 3R T HifaY | 4x1Y»

OPTION - I/ fa&ea - I
(Environmental Law and Sustainable Development) / ( TRt A 3R aruita faea)

Explain any six needs for Sustainable Development. 6x1=6

RO T &l Thgl ©: STavIHhdistl i AR ity |

OPTION - II / faeheq - 11
(Consumer Protection) / ( JUHTHT e )

Explain any six unfair trade practices. 6x1=6

fohgl ©: TIfAd FRIGR SRR Sl T HITIT |
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